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3/54 The member OA rotates about a horizontal axis
through O with a constant counterclockwise angu-
lar velocity w = 3 rad/sec. As it passes the position
6 = 0, a small block of mass m is placed on it at a
radial distance r» = 18 in. If the block is observed to
slip at 6 = 50°, determine the coefficient of static
friction pu, between the block and the member.
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Problem 3/199

3/200 Car B is initially stationary and is struck by car A
moving with initial speed v; = 20 mi/hr. The cars
become entangled and move together with speed v’
after the collision. If the time duration of the colli-
sion is 0.1 sec, determine (a) the common final
speed v’, (b) the average acceleration of each car
during the collision, and (c) the magnitude R of the
average force exerted by each car on the other car
during the impact. All brakes are released during
the collision.
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3/64 A 3220-1b car enters an S-curve at A with a speed of
60 mi/hr with brakes applied to reduce the speed to
45 mi/hr at a uniform rate in a distance of 300 ft .
measured along the curve from A to B. The radius D %MCQ Ao),‘z/m - Novanal
of curvature of the path of the car at B is 600 ft. Cal- {WW

culate the total friction force exerted by the road on
the tires at B. The road at B lies in a horizontal

plane.
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3/261 Two identical hockey pucks moving with initial ve- ] > W <@ H C&m%
locities v, and vp collide as shown. If the coefficient

of restitution is e = 0.75, determine the velocity

(magnitude and direction 6 with respect to the posi- "r gé H d,_'/d/é—ea_,‘,l N ? m -
tive x-axis) of each puck just after impact. Also }O )

calculate the percentage loss n of system kinetic WLWM

energy.

vy =6m/s

vg =10 m/s

Problem 3/261

2D féo ~+ S/I—alg)
State 1 @egowt Lmpack Steli s gkl ol

9 L pa ct

<~
% L
Va )3s° “a
< 14
\

/1
N @ &
>) loeffe copt *f wliliteonr Cpualin, X Grie)

€z Vﬁf‘-—vl”v‘"

Vax - \’Y‘a&

O F5 L\,WX“V$>‘) = U/7>e" Va '



635 ( b -~ Lo e %0 )) ~Vps! VU ax
10998 = Vo' -V, ! L)

¢) lonervraliorn < Mpvatnn (> o)
hin, Sy co30” = mavnla ]

Up ~ Vb ea 305 = val + V' Ql)

Ve

@ - b esm o =Npaly +.0 %95 xUny'

e-lopemzo” —10.93S = AVa,'

Var' - -6 83 mis

1

N, - 10175 (. %%

\/,@’)Q > H94.00 3
ComermpoEon  of, monwTiom (4 dirctign)
Lot Xposd g 10 _fovee —cn F e J,Mﬂzm
“%\/Afvd’ = mp Vg

\/AV) ’:9
M/é U‘y.).a/:‘ %vrb%
\)fb%,; \/63

l/)gxal:/om—f““

Vi, - Swmis

\ { r 1
VA ‘-, UAVL1+ thﬂz = (,’@gj))‘%o’b




'
VA g-g%m(s

Op z1%0° (,orM x d.(,pQC/'eLOYQ

Up ' 2 \[(VBR) T UNsy ) =\ wang g

Vo' = b Sy

Op - ’VM-. Vfbca' ~
) R S | SIS

n = /}L(/& “00_/——, ke -ksr
l‘U\ < S
o dyx (Vare VD) — L (va'? 2
_/7& - ™ A st
— X(Ot/.
2 P (vas v )
( 4,"{101) - (@(%321”6‘57)
= Y00 )

G

n -~ BM.95% /.




/ l) M ! oCoyr
3/54 The member OA rotates about a horizontal axis P

through O with a constant counterclockwise angu-
lar velocity w = 3 rad/sec. As it passes the position
6 = 0, a small block of mass m is placed on it at a
radial distance r = 18 in. If the block is observed to
slip at 6 = 50°, determine the coefficient of static
friction pu, between the block and the member.
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